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<imlayenr (1) Simeandg eilamas@End sAUTs 5610 USeunsl 2 @TeTST raiLSmE
sflurtsg s Qararenajd oFsiiudaila geapulmindear senps
sewameniluumrerilib 2 Larguirs cgilaildseai.
2) feb deg seuy oblear wlHEL aywgesnED,
2l HCarg Heush@b LwenBds Galsir(b. UL B&EET euanyeusm (@
Quendley LwaTLBEGeD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Black or Blue ink to write and underline and pencil to draw diagrams.

GOILY : Geusilamasner epenny GMesmars CleramL g

Note This question paper contains three sections.

LS1fley- I/ SECTION - I

(gl LiClua@rser : 15) / (Marks : 15)

@OlLy ¢ () @udfiedd edrar 15 afleamds@ps@h eflenwellésein. 15x1=15

iy @eLlys gilayda Aer@asiul (Berer wrHm efen &eile
Basayd sflwrer el _amug CampAaRss 6r(pseub.

Note : ()  Answer all the 15 guestions.

(i) Choose the correct answer from the alternatives given in the brackets.

[ SlgpLiys / Turn over
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Buwneamss GCoieys Gerlurient Qeuefludieur
(gmireuan LmireSlerr, ablyy Car-te-od e, AMarCaraen Qo gﬁ@* LITLIEn e
QULDTITE )

The theory of Natural Selection was proposed by

(Charles Darwin, Hugo de Vries, Gregor Johann Mende] Jean Baptise Lamark)

l&as s@Hennuwirer wEMLTE sTFFMme 2 (Heurs@Ew MerrauGomalin a“lkrﬁuﬂ
(GeuGa, wGaRGW, ureaflurrw, ameaaingen)

The most serious form of malaria is caused by Plasmodium
(ovale, malariae, falciparum, vivax)

(105510 LEEHuRd sramiiu@Bin gm pretbloand syl

(@i femed &g, Qi f& &9, eograli@ srod, seasmun) -
An endocrine gland found in the neck is D
(adrenal gland, pituitary gland, thyroid glemd, pancreas)

&G greuymsaiar urdlais Qumss wapifa pel QUi psa Hsbe]
(Bmamise, (paarssd, Ban(ib e maursd, warbss Corsans)

In sexual reproduction of flowering plants, the first event involved in thisis
(fertilization, germination, regeneration, pollination)

urer g mefley Cpmi erdlmiys sadlenul oieflsdng.

(@e1d @rss Hailiy saysser, @rs5s AeudtenerTansser, Blrss L6
SiEmISEET, WHT Brs5s HlLg &s6T)

Which bloed cells of mammals are concerned with immunity ?

(Young Erythrocytes, Leucocytes, Thrombocytes, Matured Erythrocytes)

el 6t STHNlGLQTE seurssbflamd e @rLreg
(orsné b, eumeds siflo, assamed, =fgd blab)
The product ebtained in the anaerobic respiration of yeast is

(Lactic acid, Pyruvic acid, Ethanol, Acetic acid)

Lig i e EUTmhensE THSSHSETH
(smblpid, @eplby, waetdwib, Hleds)
An example for fossil fuel is

{copper, iron, magnesium, coal)



11.

12,

13,

14.
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pilame Lred CrMuEE aTRESISST( 5ms g

(Clerdl Sriig, daflurye Curl, urrameuds @enun(®, enlumiih)
An example of water-borne disease is :

(scabies, dracunculiasis, trachoma, typhoid)

benré seorliunenss Gerar. sorsd Sisseorsd oyEb. sudTaL
FLIDL G SMTUILTETSS OSTar_ Ganreeh _ S@&D.

(Brssannse, Srmm senysd)

A solution that contains water as the solvent is called an aqueocus solution. If carbon

disulphide is a solvent in a given solution, then the solution is called _
(aqueous solution, non-aqueous solution)

upflmsmas 5OEs prd prEphd U goss Couar@b, [HLD 1D M6y
LwsTL(RiEsLIUBID UbhUE SO (s TerTL g,

(@nblovid, &ryb)

To protect tooth decay, we are advised to brush our teeth regularly. The nature of the

tooth paste commonly used is in nature.
(acidic, basic)

ppanmreug) eufensulla HET DMBIFET ©_6iToment Sieumiled erdsenan (e s mhiseT
o _GITermes 7

8 5

The third period contains elements. Out of these elements, how many elements are

non-metals ?
(8, B5)

usBleflev i ydefler __ g1 ypCaupmenio BUlG-QULD,
(BLTe6, STTLIGH, §60s i)

Buckminister fullerene is the allotropic form of

(Nitrogen, Carbon, Sulphur)

el Liriled 50 &4, Sanpuyater weflgaflan erenl

(30 N, 35 N, 380 N, 490 N)

The weight of a person is 50 kg. The weight of that person on the surface of the earth
willbe =

(50 N, 35 N, 380 N, 490 N)

@565 Hlupsmerzatieh o arenCuing . urdy wep uFliysemer oSl
S8 Qauiiigens 2 U seurdlng.

(Cleuerrento, Garpllemyliune, sma, EEEET)

______ ___surface absorbs more heat than any other surface under identical conditions.
(White, Rough, Black, Y, ellow)

[ Slapli s / Turn over
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15. gpluurfenel @Gampurlal & Gl Lilei L (R &)

(@Y Gearev, el Gleveren, @1 opy, @Gl 2yl )
The defect of hypermetropia can be corrected by using a

(concave lens, convex lens, convex mirror, concave mirror)

Nfle- I / SECTION - II
(A LGlLTSET : 40) / (Marks : 40)

GO : aCsead Bmug damssEnss ellar weldsan, 20x2=40

Note : Answer any twenty questions.

16. BL&SFalq UaT&ET b SADhhlenddh@diend, Guflabibh@engsb wrmu@ibn.
S&HTEyID LIGmLseT ergsmaw rmur(hser tsranhererar srad GO0 s.
(i) weafss seiranilem Floib E)GDJ_D gmilily, Ldens, Linpliyy erem
wropuBdng. @deams wrpur(® eraiiu(Hib.
(ii) pwed, wrener Gumemmeummle ErariLiid L Benioli]
wrmul(Heterg. Qeleaiems WwirmurThser GTesILILI(RLD.

The inheritable characters vary in different species and within the same species. Name
the variation in the following cases.

The eye colour among the human beings are varied as blue, black, green, brown etc...,
(i)  This is called as _ variation.
The dentition in the rabbit and the elephant are not the same.

(i) Thisiscalled as __ _ __ variation.

17. wrpbuflwb emibs o wosdw Qerpgillysed Gy Gen@éslHererear.
Siauhper e fluarsuneon CsTBEsRSSE ar(pgls.
(1evefed, wrpLT@ser, hmlarorsa, g6, 21e60GaTimiesL&er)

(i) ___ syefsdar Qup@we grits urpbufiws srraflsdar <@ib.
G . eremiigy Gy sdafler wrhmd searalpwmEGL.

Here are certain important hereditary jargons. Fill in the blanks by choosing a suitable
one from the list given.

(allele, variation, speciation, gene, allelomorphs)

(i) are the factors which form the physical basis of inheritance.

(ii) ___is the alternate forms of the same gene.



18. g dlwafigar wpgd shsrw walsa awear arbasiiul L wealls Earmsaner
auflapsiLDEga|ib.

(Bwuram s wallsar, CanrGorap@ealsy, CanrCuor sl eb, CaprCur
Gle wien)

Sequentially arrange the different species of man from primitive to modern: man.

(Neanderthal man, Homo habilis, Homo erectus, Homo sapiens)

19. HIV-g5 sawLpluyd e bomn o nduuBegih < iielser wreame.

Name the tests done for the diagnosis and confirimation of HIV.

20. &(paTter LiLGeng euamIhHE) QsrEissiLic Gerereuhmier @ran® UGk SmeaTs

GOESHED.
(QFd) oL qubd, péevmer, QLamarna, faerss wieyll UEdser)
Copy the diagram and label any two parts in the group given.

(cyton, axon, dendron, terminal branches)

= e Y
> : s

6180
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21. (1) uLD A DML B evwl enLWiTend STaus.

(<) A-udlar erpsls LEgd B s wrmdng:.

(a) Identify Fig. A and B.

(b) Which part of A is modified into B ?

22, wrgniuselléd sramlu@ihd ue el wrg ? wrameniler bW ergem
wrmr® ?

What type of dentition is seen in mammals ? What are elephant tusks ?



(Lo ]
9% ]

24,

25.

7 6180

2L alelr “womevi i Gablevl. * eremm HmiBrsin 2enpssiuhding - srrems

SATL_MHBE 6TD&IS.

(<2) 2Ldfled QupLuBL mass Gaudir QureTsEmd Hnhrsss e
Glupliu® dlenme.

(<o) Apifrsnd Gréssder GauBuepwy gLobleneveniils GLgndlng.

(@) dmfrsn, 2L dd Qupnd =mass GCaudl (ol Li (R 6T & 6» e W LD
CleuafCuipm Sl

(7)) Spprseb, 21 olen siomeasg Geudl) Gur@ersamenyn Collgs aneusg)s
Qarerdpg.

The Master Chemists of our body are the kidneys. Justify.

(a) Kidneys filter all chemicals in the body.

(b)  Kidneys maintain the chemical composition of blood.

(c} Kidneys eliminate all chemicals absorbed by the body.

(d)  Kidneys store the chemicals accumulated in the body.

Qrsssdlar Qerravior uGHuld arawiu@ib 9errevom LGrTLte e s e
apenilanends samis. eupilen uafsmenun @fld@e,

Name the three important blood proteins seer in plasma. Add a note on their functions.

ETELMIE SMIFD OSADTONSE LOTH D el _Slng)
(<=1) Giopaser QawieSld eThgens Blapsd pen Qumdng
(&) 58 plsmamuif rHLGEDE ?

Sugar is converted into alcohol. In the above reaction what kind of process takes
place 7 Which micro-organism is involved ?

el Gastet Geurgs anhHpmeis __ aflurs s@e Cleodlng.
Lesisetéy Borerg) BTS2 L a)d@6r Glearm Bl sanybg)emer
<=, &endl et __ &@eT ureydimg).

as, air enters into the body through and moves into

F'r L ¥ 1 1
1N DUuman Jelng ~Eh

In fishes, water enters into the body through _ ~  and the dissolved oxXygen
diffuses into

Cegriird Aammds srorsda QAsrLCUTEH gHuBL wTHnsaa
slileré 4.

Describe the change that occurs in a touch-me-not plant when it is touched.

[ Slgplis / Turn over



6180

28.

29,

30.

Qeraumd UsHmwl Lyss 5655 mimus sarLdis CerglL
BlLrasener Hlylis.

(6@ flemerellliLig), s o Caramisar, &IiLe-eL - s d, &h55
L
5| &ETEHET)

UG TFLD, U_]CS[J'EDﬂ-U_JLTD, Comilwun, o feefles

__ &b Fevenauldledlmia

CeualCGuppliu@w sfleyt Qurmled wallgeayse ol @i
Gublenwmuuln urdédems. Hossfulid oedrer Sl LesLp

2 (Hraums STraLTalCsrH L HOOTDD LFMmDLTS GL T L - BT L 1o
QeueflCuppiul () sreble® wrourtynen Lell Geuliu LD T M @)1 & (& &
ST ETLONE DG

Fill in the blanks with suitable answers from those given in the brackets,

(harmful, heavy metals, carbon dioxide, sulphur particles)

Generation of waste products which contain Mercury, Uranium, Thorium, Arsenic,

and other ~ are _ to human health and environment. -
present in the coal will cause acid rain and the release of a green - house

gas, causes climate change and global warming.

Qummbsreng Hé@s :

(<=1) 2l - pasamnd, usame wsd, o Ulfl-rgT, Cul Grmadluib
(<) sreoyrm, ewlosLimu®, Clerdldyhig, F5CUE

Find the odd one out :

(a) bio-alcohol, green diesel, bio-ethers, petroleum.

{b) chalera, typhoid, scabies, dysentery.

gopmas Gsllés egeajb srgamamerts Germeumeuaralp el @mba
GarihelsREsH6eLD.

(gafipd versar, srly e L, Giw B GCLpdl, Bler S GO,
LleoL e ellens@sar, Werenan W e )
Pick out the appliances that can conserve electric energy.

{(Flucrescent bulbs, copper choke, solar water heater, electric water heater, tungsten
bulbs, electronic choke.)

http://www.trbtnpsc.com/2013/10/10th-exam-questions-with-key-answers.html
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wrdlyjerer Hmbus dup @uanbd, Hebul Qup Quiars aieThsaer
pepITE LUMBHEE!S.

CLIGITTRIG T A B C
Slapoud Cumib euarmiser &if) &) QU GrmeSwib
Smbul Bup Guwiewrs ’ _ .

_ enanL_rmen | @lubheng eury | @M el ephmd

UGB &ET

Match the suitable renewable and non-renewable sources,

Sources A B C
Coal
Hydrogen

Renewable Wind Petroleum

Non-Renewable

Natural gas Solar energy

25°C Geutiublenanudier Glgedll g 11 s IFaISE D, Qg6 L 15 SmIFQIEELD 2 6o
Caupiurheamats Spé Car@assu Bater GHUUST ppald eT(IpsIs.

(i) 164 NaCl 100 &l. Bfiev (i) 36 & NaCl 100 &1 Hifled

(®HIY : NaCl Gl serdpen 36 £)

Distinguish between the saturated and unsaturated solution at a temperature of 25°C
using the data given below. (Note : Solubility of NaCl is 36 g)

(i) 16 g NaClin 100 g water. (i} 36 g NaCl in 100 g water.

~

MeeumouaraunmieT Wflans Heavwmn Gloms em_ssms s :
(1) urenen &y, (<=,) Garimhr

Give the dispersed phase and dispersion medium in each of the following :
(@)  Cheese (b) Soda water

labteu(mHD o1l L euenamTaniLs Blrliys

SEnTILo b =gl Hlen cpudsmm Hevn | Sismssl (5 eram
& Gemmitico 355 71
|
Gamem 48 3 ’
gL 32 8

Complete the

table given below :

ELEMENT | ATOMIC MASS | MOLECULAR MASS ATOMICITY
Chiorine 35.5 71
Ozone 48 )
Sulphur 32 8

{ ;:ﬁ@LIM& / Turn over
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35

36.

10

Qungme PH ol
@Uggm 74
genowiey Corir 54
Aeflai s
G L@ SiGralur | 12

SiLLalmareamwl uglurde Gesog SGp o drar
e weaflegeyh.

(34) THOGHES LTS WS Feend o i wanel ?
(@) apOlghet) QUTmETaET sITH Sarmn 2 L Wenel ?

The pH values of certain familiar substances are given below :

Substance pH value
Blood 7.4
Baking Soda 8.2
Vinegar 2.5
Household Ammonia 12

Analyse the data in the table and answer the following questions.

(a}  Which substances are acidic in nature 7

(b} Which substances are basic in nature ?

Fooenli(h) STaemel @l Flssl LusTu®wn penm

(meny Bisuy wenn / yelluimiy apenm)

A process employed for the concentration of sulphide ore is ____

(froth floatation/gravity separation)

Gy enflenw Ty swGUL samreaaidr measELGung iy edGur
gren Elmid wrndng ? o ks ufaissren elarsssmesd sra|in

Why does the colour of copper sulphate change when an iron nail is kept in it ? Justi y
your answer.

Ber® Lafpg fe Gurmerseaiiar pH iy G Qerféstiul {erms.

Gaareils ems 3



38.

39,

40.

47.

42.

43,

11

g 2 Garan Urgreggldar CsmpaTaib sH@ Bressoemed ram GQuw.
up@Plamer S _UUsHEL LuaLbn @ressaaeu
(Ag-Sn Ereésmansy /Cu-Sn Eressaenal)

Any metal mixed with mercury is called an amalgam. The amalgam used for dental
filling is (Ag-5Sn amalgam/Cu-Sn amalgam)

aneld srituggenw UpGeudmenin 6uiqeuhis(EHeT @EnmTELb. DIGHET Hlg.6HS
SEIEDGETE STTETSHENEE Fn s,

Diamond is the hardest allotrope of carbon. Give reason for its hardness.

QLesdls Sdeuys sy  @dludland euagsalis Hmplusdpee
Gl @MlbBeig wry.
As a matter of convention, an anticlockwise momen? is taken as ; and a

clockwise moment is taken as

1414l fleopuyarer g Qummer 20 B 2 wipsdler Gimpe oNipé GawwtuBépsy.
senyeneni eupSenL hegn G Caissdlad Gutlaipdng). 2 h& LML LS
srans. (g=10 B5/ef 2 erens.)

An object of mass 1 kg is dropped from a height of 20 m. It hits the ground and
rebounds with the same speed. Find the change in momentum. (Take g=10 ms~?)

Qar@ssiiu (arer gpnmd ppabisais QurmbsTs oarmns ey se.
(<eored Wlehr <y mmeb, @Gl epbmen, B Wlar @ymme, 2 uafl ehHned)

In the list of spurces of energy given below, find out the odd one.
(thermal energy, solar energy, hydroelectric power, bjomass)

Si@dLULs @ohlegear QerhGssuul fearar Cerpsald o Nuaeapans
CoipllsBsgl Gareimd @jl_L_euamanrans BlFiiLs.
(@I6gBIsD, SMoiTDd, sriuer, sTTwb, sTiu Spdamev), Siablaluin)

Crmllemeumi l&ifi ofle Conésaar

erglinblesreumi | CleGamessd) 16 snset

Complete the table choosing the right terms from within the brackets.
(zinc, copper, carbon, lead, lead oxide, aluminium)

+ve elecivode |Lead acid accumulator

—ve electrode |Lechlanche cell

[ l(mliys / Turn over
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44. Gummrsid Qedu < nnd GHss eT(Was.

Write about ocean thermal energy.

45, §Q_Qaim‘r LLSde aThss sTHg eadl sTHsl Lasdea dasmws sflurss
s (Hénsg.

Which of the compass needle orientations in the following diagram correctly describes
the magnet's field at the point ?

A B

o %S
N 5 @
4o

6. QU H6n samsarmed 12 B 1 (& Siuumed 2 drer QU maTasemens Ogaflourss

et (pigweileene. Bl Gopurlhaeruld smars &fl
QrlisugnaTan Cleemelenamujl Foms.

A persen cannot clearly see objects farther than 12 m from the eye. Name the defect in
vision he is suffer‘mg from and the lens that should be used to correct this defect.

(£

7. Qunmsgs :
(=) L luriened () el Cesra
(<) grriiumienay (i) FeT eusneT <oyl SET

(@) 8 erpiieneyd dmerr @eopun(® (i) GUCa6men

(FF) emuLd eurer CgraneCrrédl (iv) G)m @elué samenriy

Match. the following :

(a) Myopia (1) Convex lens

(b) Hypermetropia (i)  Hyperbolic mirrors

{¢) Presbyopia (i) Concave lens
(

(d) IHubble space telescope iv) Bi-focal lens
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LS1fley- 11T / SECTION - 111
(wUGlLarTaeT : 20) / (Marks : 20)

GBIy () geiQeuns LgEudled b @ eflesm eisd w6, eSlamrésenss

eflen_wieflEsa . dx5=2(

(i) Ggeveuwirer @)L risafd L b AUEHTS.

Note : (1) Answer any four questions by choosing one question from each part,

48,

49,

(i)  Draw Diagrams wherever necessary.
@S -1/ Part - I
G TETLIOT GLhans olubmererm,
(=21) Apbg GRh@MsES (1pS < OTER&ERGEE auiphis Ceu g i
CrmiSsHULE =i _aimeamranw TS S,
(=) QssHILAs6T apaid rhelshs Crmisamerd 5H&HL lwiayb,
Kala has delivered a baby.
(8)  Suggest the immunization schedule for the baby, in the first six months,

(b)  What are the diseases that can be cured as pet the schedule ?

56 Qar@ssiul Garer Qerpaaen @ouEg UsHaow yisd Qeis.
(wamanL_Cuir®), wpeTblaTauibLs Gerir, avwirGuol o i, TSl o anm,
(pepar, SET(HleuLLd, LPEHeT 2 EAMEBET, g1y Tm Gl L)

LW BIWLY WETL QSaMGE & hmluarer EPETN UTHSTLIL 2 edmEar
@l Hwriswrs _ G Henpssliufermer, L D i LD
——— 5@ Wil simbhgeTer Qeuafllliym @i e s EN.GT 2D
__________ — CTETD D PEFUILHE DS, Quadlugih, Brés srermsmert
Clupmgorear BB ceopsE __ ererm G, PRGN GIT 60 IL1 L] 1D
sl s@WD sHA Cpmésnrs SMLBEIETET 2l Clidallw o s
eTarm Cluiif,

Use words from the given list to complete the following paragraph.
(Skull, Vertebral column, Piamater, Arachnoid membrane, Brain, Spinal cord, Meninges,
Duramater)

The central nervous system is covered by three protective coverings collectively called
The outermost cover lying below the U - : (R is
double thick and is called . The middle covering is thin and vascularised
andiscalled _~  The innermost cover is a very thin delicate membrane and is
closely sivetched over the outer surface of brain and spinal cord is called

[ Smliys / Turn over
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50.

51.

52.

53.

14

L&) - 11/ Part - IT
weriss Carsmaulean aimssdr LITME? GThS 6UME DETHSE Garéens bemenld
SThsalqigl ? erer ?
What are the types of pollination ? Which among them is more advantageous ?
Why ?

sfenii eriliLgame erhUGD S LUSELD QEweraenari) L g el (Hs.
List out the harmful effects of burning coal.

L@l - 11/ Part - 1T
Qémaimld Signsaatlar Gora craanilEesani s saTsH(HG
(<21) 2 8. enpLirsge
(<=3,) 23 &, Gamiguibd
(@) 40 &. sreflud
(rr) 14 4. &flsHunb
(o) 32 &. sébulr
Find how many moles of atoms are thers in :
(@) 2 g of nitrogen
(b) 23 g of sodium
(¢) 40 g of calcium

(d) 1.4 g of lithium
(e) 32 gof sulphur

Qarfésiul_Berer o Lamamnisd Camql L @)L hisemaTs 5&55 ELPGO &S D)
GUTILILITLLL TG Bl

Gl GT 6B 2|0 Gaen S|eudenT OGN SEH
1 |GH raCaen _ m&fen C.H, rrgen et
2 PRI LCrrCuen |CsHyg LCrriilan i _ yGrmuenLig
3 |Calp Ay GLan RN VTS - S— T

Fiil in the blanks in the given table using suitable formulac :
S1L.No. Alkane Alkene Alkyne

1 C,H,ethane A ethene C,H, ethyne
2 propane C,H; propene __ propyne
3 C,H,; Butane _ Butene Butyne
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L&) - 1V/ Part - IV

54. (<) efam@eued efyiser ofa@r@esan Blevawiriisalc Bewr_ mran BBIGHEUS TE)

wels o afld) ghubd ellenereusamar DrTwaignsrsGair, eQanQoiad
Hlanewwiiigar Lwien (Mg L (Bl v e Qlsanbblenar Bumuliu@ssis.

(<2) F=G mym,/d? eTemlgl BluLl Lafd miiQuid efifulen senfls b,

85,

G- rilQwéd wrfe, my, m, erenlig Hleopser. d ClLimmarsens e
Qe Ll L Qsravaay eranfiay” Blup L eflem Qe flulenens mme.

"Space stations are used to study the effects of long-space flight on the human
body’. Justify.

= mlmz/d2 is the mathematical form of Newton's law of gravitation,
G-gravitational constant, my, M, are the masses of two bhodies separated by a
distance d, then give the statement of Newten's law of gravitation.

B Ty¢ _
f l-.. i /" f
P
A
L /

e

Sormrmse

L

(31) CoGav o_crar UL gang Ban@id eueirs.

(<) @i GG Heug
(8) uLsdld wafuwrer Lrstismens GDlSEa b,

()

(2)
(b)
©
@)

O TEHBSGeUSS @ Silg LienL_ufld @&uebu@aﬂmgg;.
Redraw the diagram,

This diagram represents
Label the parts of the diagram.
Mention the principle used in the device denoted by this dia gram.

-0 -

Th

=



